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Sample Paper – 2010

Class – IX

Subject –MATHEMATICS 
Time allowed: 3 hours                                                                         Max.Marks: 80

      General Instructions: 


SECTION – A
(1 to 8 carry 1 mark each, 9 to 12 carry 2 marks each)

1.  An irrational number between 
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 and 2 is

	a. 1.73
	b) 
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	c) 
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	d) 
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2. The degree of the polynomial P(x)=0

	a) 1
	b) 0

	c) Not defined
	d) None of the above


3. If  one angle of a triangle is equal to the sum of the other two angles, then the triangle is

	a) An isosceles
	b) Obtuse

	c) Equilateral
	d) right angled


4. Which of the following is not a criterion for congruence of triangles?

	a) ASA
	b) SAS

	c) AAS
	d) ASS


5. The median divides it into two

	a) Triangle of equal area
	b) Congruent triangle

	c) Right triangles
	d) Isosceles triangles.


6. If AOB is a diameter of the circle and C is any point on the circumference such  that AC=BC, then 
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 is equal to:

	a) 45(
	b) 30(

	c) 90(
	d) 60(


7.    In a cylinder,if radius is halved and height is doubled, the volume will be

	a) Same
	b) Doubled

	c) Halved
	d) four times


8. The class mark of the class 90-120 is:

	a) 30
	b) 90

	c) 105
	d) 120


9. In the figure  if AB ((CD,the value of x will be:

                                                      A                                              B

                                                      110(        

                                       p      x     

                                                       120(
                                                      C                                               D

	a) 60(
	b) 70(

	c) 130(
	d) 10(


10. If angles A,B C and D of the quadrilateral ABCD,taken in order,are in the ratio 3:7:6:4,then ABCD is a 

	a) Rhombus
	b) Parallelogram

	c) trapezium
	d) kite


11.  If AB=12cm and BC=16cm and AB is perpendicular to BC,then the radius of the circle passing through A,B and C is:

	a) 6cm
	b) 8cm

	c) 12cm
	d) 10cm


12.  The following observations are arranged in ascending order:

 26,29,42,53,x,x+2,70,75,82,93 if the median is 65,then the value of x will be:

	a) 62
	b) 61

	c) 63
	d) 64


SECTION – B
(Questions 13 to 19 carry 2 marks each)

13. If 
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, find the values of a and b

14. Without actual division, prove that x4 + 2x3 – 2x2 + 2x - 3 is exactly divisible by x2+2x -3.

15. ABCD is a trapezium with AB║ CD. LM is a line joining mid-points of AD and BCrespectively. Prove that LM=1/2(AB+CD).
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16. ABCD is a cyclic quadrilateral, whose diagonals intersect at E.  If (DBC = 70(, (BAC = 30(, find (BCD.  If AB = BC find (ECD.

17. The radius and height of a cone are in the ratio 4 : 3. The area of the base is 154 cm2.  Find the area of the curved surface. 

18.In figure AB>AC. BD and CD are the bisectors of ∟B and ∟C respectively meeting at D. Prove that BD>CD.
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19.     In figure ABCD is a parallelogram and X, Y are the midpoints of sides AB and CD respectively. Show that quadrilateral AXCY is a parallelogram
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SECTION – C
(Questions 20 to 29 carry 3 marks each)

20. Represent 
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 on number line.

21. Factorise (i) 2
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a3 +16 
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b3 + c3 – 12abc

                      (ii) a3-b3- a + b

OR

           Factorise : x3-23x2+142x-120

22. If two parrallel lines are intersected by a transversal, prove that the bisectors of the  two pairs of interior angles enclose a rectangle.

23. In figure AB= PQ, BC= RQ, AB
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BQ and PQ( BQ. Prove that   ▲ABR  
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24. ABCD is a trapezium with AB((DC.A line parallel to AC intersects AB at X and BC at Y. Prove that ar(ADX)=ar(ACY)

25. XY is parallel to side BC of a triangle ABC. If BE║,AC and CF║AB meet XY at E and F respectively. Show that ar(ABE)=ar(ACF)

26.  ABCD is a trapezium with AB║ CD. P and Q are the midpoints of the   diagonals AC and BD respectively. Prove that

 i) PQ║AB║CD                        ii) PQ=1/2(AB-DC)
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27. If two equal chords of a circle intersect within the circle, prove that the segments of one chord are equal to corresponding segments of the other chord.

28. The mean of 11 numbers is 35.If the mean of first 6 numbers is 32 and that of last 6 numbers is 37, find the sixth number.

OR

      Find the missing frequency p for the following distribution whose mean is 7.68.        

	X
	3
	5
	7
	9
	11
	13

	F
	6
	8
	15
	p
	8
	4


29. A hemispherical bowl of internal radius 9 cm contains a liquid.  This liquid is to be filled into cylindrical shaped small bottles of diameter 3 cm and height 4 cm.  How many bottles are required to empty the bowl?

SECTION – D
(Questions 30 to 34 carry 4 marks each)

30. Find the values of a and b so that when x4 – 5x + 4x2+ax+b is divided by x2-3x+2 remainder is zero.

31. In ▲ABC, BO and CO are the external bisectors of (B and (C respectively. 

       Prove that( BOC=90-
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32. State and Prove Mid point theorem.

33. A storage tank consists of a circular cylinder with a hemisphere adjoined on either end.  If the external diameter of the cylinder is 1.4 m. and its length is 5m.  What will be the cost of painting it on the outside at the rate of Rs.10 per square metre.  

OR

A solid sphere of radius 6 cm is melted into a hollow cylinder of uniform thickness. If the external radius of the base of the cylinder is 4 cm and if its height is 72 cm, find the uniform thickness of the cylinder.      

34. Represent the following data by means of a histogram.

	Marks
	  0-10
	10-30
	30-45
	  45-50
	  50-60

	No. of students.
	     8
	   32
	  18
	    10
	    6


Paper Submitted By : 
Name - PRASHANT KUMAR 

Email - prash11677@gmail.com 

Phone No.  0096892806084
All questions are compulsory.


The question paper consists of 34 questions divided into four sections – A, B, C& D. Section-A contains 8 multiple choice questions of 1 mark each and 4 multiple choice questions of 2 marks each, Section-B is of 7 questions of 2 marks each, Section-C is of 10 questions of 3 marks each and Section-D is of 5 questions of 4 marks each.


There is no overall choice.  However, an internal choice has been provided in two questions of three marks each and one question of four marks.


In question on construction, the drawing should be neat and exactly as per the given measurements.


Use of calculator is not permitted.
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